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SSC CGL Mock Test 2024: Most Expected Questions

We have compiled below the SSC CGL's most expected questions based on the previous

year's question paper and exam trends over the past years. Check the SSC CGL mock test

PDF in terms of most expected questions below.

Q1. Select the option that represents the letters that, when sequentially placed from left

to right in the blanks below, will complete the letter series.

MN _ _ SM _ PO _ _ N _ OSM _ P _ S

1. PONSMPNO

2. PNOSMPNO

3. PONMSPNO

4. PONSNOMP

Ans. 1

Q2. Select the option that represents the correct order of the given words as they would

appear in an English dictionary.

1. Warriors

2. Warehouse

3. Warcraft

4. Warranty

5. Wardrobe

6. Wardenship

Q3. Three statements are given, followed by four conclusions numbered I, II, III and IV.

Assuming the statements to be true, even if they seem to be at variance with

commonly known facts, decide which of the conclusions logically follow(s) from the

statements.

Statements:

Some desks are trays.

Some trays are plates.

Some plates are desks.
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Conclusions:

I. All desks are plates.

II. All plates are desks.

III. Some plates are trays.

IV. All trays are desks.

1. Only conclusion III follows

2. Only conclusion IV follows

3. Only conclusion II follows

4. Only conclusion I follows

Correct Option: 1

Q4. Which number should replace the question mark (?) in the following number series?

39, 42, 48, 57, 69, ?, 102

1. 87

2. 79

3. 81

4. 84

Ans. 4

Q5. Select the correct combination of mathematical signs to sequentially replace the *

signs and to balance the given equation.

150 * 3 * 10 * 2 * 7 * 46

1. ÷, +, −, ×, =
2. −, ×, +, ÷, =
3. +, −, ÷, ×, =
4. ×, +, ÷, −, =
Ans. 1

Q6. Ganesh was taking a walk with his mother’s brother’s father’s granddaughter. Who

was he walking with?

1. Daughter

2. Mother
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3. Cousin

4. Granddaughter

Ans. 3

Q7. Which of the following letter-clusters will replace the question mark (?) in the given

series?

UV, OY, IB, EE, ?

1. ZK

2. AH

3. BI

4. BH

Ans. 2

Q8. Select the option that is related to the sixth letter-cluster in the same way as the first

letter-cluster is related to the second letter-cluster and the third letter-cluster is related

to the fourth letter-cluster.

HMD : KOE : : BNQ : EPR :: ? : FL

1. SJE

2. UJC

3. EJS

4. CJU

Ans. 4

Q9. 5 Which two signs should be interchanged to make the given equation correct?

588 ÷ 28 × 32 + 72 – 160 = 760

1. – and +

2. ÷ and –

3. + and ×

4. ÷ and +

Ans. 1

Q10. Which of the following states is NOT a part of the Tapi Basin?

1. Rajasthan

2. Maharashtra

3. Madhya Pradesh
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4. Gujarat

Ans. 1

Q11. In which industrial policy was the investment limit for tiny industry/unit increased

to ₹2 lakh?

1. 1977

2. 1991

3. 1980

4. 1956

Ans. 3

Q12. Who received the Nobel Prize in 1901 for ‘recognition of the extraordinary services

rendered by the discovery of the laws of chemical dynamics and osmotic pressure in

solutions’?

1. Hermann Emil Fischer

2. Jacobus Henricus van 't Hoff

3. Svante August Arrhenius 
4. Henri Moissan

Ans. 2

Q13. Which of the following festivals is associated with the term ‘ties of protection’?

1. Baisakhi

2. Karwa Chauth

3. Chhath Pooja

4. Raksha Bandhan

Ans. 4

Q14. The consumption of fixed capital is also known as _________.

1. depreciation

2. net investment

3. appreciation

4. gross investment

Ans. 1
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Q15. The marked price of mustard oil is 25% more than its cost price. At what

percentage less than the marked price should it be sold to have no profit and no loss?

Ans 1. 15%

2. 20%

3. 18%

4. 22%

Ans. 2

Q16. As part of his journey, a person travels 120 km at 80 km/h, the next 100 km at 40

km/h, and comes back to the starting point at 75 km/h. The average speed of the person

throughout the journey (approximately) is:

1. 63.46 km/h

2. 58.74 km/h

3. 68.15 km/h

4. 49.58 km/h

Ans. 1

Q17. Two concentric circles are of radii 10 cm and 6 cm. Find the length of the chord of

the larger circle which touches the smaller circle.

1. 8 cm

2. 16 cm

3. 12 cm

4. 9 cm

Ans. 2

Q18. Evaluate the following.

sin 25° sin 65° – cos 25° cos 65°.

1. 40

2. 4

3. 0

4. 1

Ans. 3

Q19. The mean proportion between 7 and 112 is:

1. 42
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2. 28

3. 21

4. 14

Ans. 2

Q20. A 15 cm long perpendicular is drawn from the centre of a circle to its 40 cm long

chord. Find the radius of the circle.

1. 25 cm

2. 27 cm

3. 22 cm

4. 20 cm

Ans. 1

Q21. Select the most appropriate ANTONYM of the underlined word.

He was "compelled" by everyone to join the group.

1. Demur

2. Obscured

3. Confessed

4. Induced

Ans. 4

Q22. Select the most appropriate meaning of the given idiom.

To kick the bucket

1. To be ill

2. Be sad

3. Be happy

4. To die

Ans. 4

Q23. Select the most appropriate option to fill in the blank.

She reminds me always that I ________ to be a little more careful.

1. had

2. have

3. must

4. has
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Ans. 2

Q24. Select the most appropriate ANTONYM of the word given in brackets to fill in the

blank.

Mr. Khanna is quite ___________(callous) towards the victims of earthquake.

1. rationalistic

2. unsympathetic

3. sympathetic

4. nondiplomatic

Ans. 3

Q25. Select the most appropriate synonym of the given word.

Hostile

1. Pleasant

2. Hospitable

3. Empathetic

4. Unfriendly

Ans. 4


